HiF (55 9 ZRBIFR)

A o 11 =55 =5 1= A = S ==
B %% M M T/ Fii it st
rmEElIdEREE| R EF 0 | DR | NFER | P ER|E S| HBE | (LR PRbEER R | S itk Z DAl
(ha) (5) BRLADY)
0.050L Bl 201k
0. 3Ait 154
W i 4
0.3 15 I K
1 50 mﬁc\—%uﬁa ﬁﬁ
1 50 . B & i
4 120 1 & o7 %
- B B
4 120 e B Iz B
8 240 1 &P H
8 240 | .. | . . & 1 H.T
12 360 mEICH®E | T RICHE 1 & Ay 5*@
12 360 || s - - ;
o veo | TR | TR |~ 25 £ i
W .
16 480 .. ne ) o KL
20 600 mE I | TRICHE 1~ 2% A H
=]
e _ _ b
20 600 = DI ETN %
LR | L AT | R 2~ AR 1 i M 7c It i <
40 1, 200 00~40/ -
____ : W
40 1,200 R Hwin T
I~2fT | 1~ | 1 R |TRICHE| A~SET 1~ 287 e oc It i
80 2, 400 40~80JE 1[35
____ \ %
80 2, 400 ORI Hdh 1
I~SEFT | 2~3fEFT | 1~2k: 1 | 8~12T 2~ 3T W 7)1 i3
120 3, 600 80~120/5 %
a al oS s — N = ~ T
120 3,600 | 3 @bl L 3 @Al L | 2Bl | 2 UL |12l RO 3 P (H A %
Pk PUE] 1, 2007712 | 11,2007 | 2, 400771 | 4,80077(Z | 3005712 PAETL, 20075 WRGEIL G
S EAT[ox LEFT| oX 1K | 5% 16 |ox 1 #5 (Lo LEPT 1205520 1
kNS flE DFXE L, FHE B A H 3 5,
AN A OW T BRI s = &,




